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Sample Question:1

Answer: A
A3.00 kg eagle is flying from right el M pppadl 63,00 kg 42bS g pla
toleftat 12 m/s. 12m/s 4 yu

The eagle collides with and sticks e aSal) P-_'u} § yilda Llaal aaill s geill salaial
to a 1.2 kg drone moving straight down ' i il a0 ng e (_h .

with a speed of 7.5 m/s. 75 m/ s de e JLY1

12.0 mis

3.00 kg

What is the magnitude of the 8 el g il e (912 el e L
momentum of the eagle-drone system ¢ aladaat) oas b il [P,
immediately after collision? )
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Sample Question: 2
Answer: 22.5
A 0.35 kg glass marble attached to a rope and s ddag 30 0.35 kg Wil dala 33 S

swings in a vertical circle of radius 1.22 m. 1.22 m Wl Caimis yila (€0 e Lo pee s

The speed of the marble as it passes its highest . & T
point is 9.5 m/s. 9.5 M/s (i gl g8 )] poal 223 S Ao

What is the tension in the rope at the highest <= 2= 38 Juall Latie: Jiall 8 221l '*‘TTJE
point in the marble's motion. ey

Round your answer to the nearest tenth. Bode e il D elilal o 8

tensioninthe rope (N) = (] =(N) Jall 2 220
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Sample Question: 3

Answer: B
A car is moving away from a motion S e Samine Al A2 A aBAs y
detector with a constant speed. AS all jladiny

Which graph best represents the motion JS A€ el 38 pa Sy oLl 4 a1 (e sy 6
of the car? '

OA.

aslutl

distance

time a3l

dslud
dsl.tl

distance
distance

time ye3l
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Sample Question: 4
Answer: A

A5 kg mass is lifted from the ground to o= Y e 5 kg 4l aa &, Al

a height of 10m. 10m gl )

- _ L.“S.-. Al &h'a:;ﬂ 45U afa v
The gravitational potential energy of ' ey

the mass is increased approximately
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Sample Question: 5
Answer: 0.61

Pull Force
adid g
110N
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The figure shows a wooden box that is
being pulled along a horizontal plane.

According to the figure, what is the
horizontal acceleration of the box to the
left?

Provided that the coefficient of kinetic
friction wood on wood is 0.2

Round your answer to the nearest
hundredth

Horizontal acceleration (m/s?) =

HAnMyrmt BFpp OF aFf /1IOF

() =
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Sample Question:6

Answer: D
The diagram below shows a current o (TSl LAl (58 sl s I ey
flowing through a wire. e Al

() «—CURRENT FLOW )

Which of the following represents the ebliaal Jiadl o ghd Jiay L Lea g
magnetic field resulting from the current?

OA. [

AAA CTOAAA
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Sample Question:6
Answer: C

What energy conversion is taking place in the
figure below?

Solial JS&I 8 Adlal) (Jgaii L

nuclear to chemical and LSl g gill e
electrical

Al sl

electrical to thermal and gyl palt Al sl e
mechanical

SR

chemical to thermal and gyl jall A Adibesh e
electromagnetic

dpclaliaa s Sl g

mechanical to electrical and AL el D A sl
chemical

Adlesll g
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Sample Question:7
Answer: D
How much energy is dissipated by the o) A5 QA gl 852l Al i Le

5 (2 resistorin 120 57 .
€120 5 o yla2e

20V

1.2 x104J

9.6 x10° J
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Sample Question: 8
Answer: C

Which of the following figures represents da o i Jie Al Al @ g N e s

the effect of temperature on resistance
made from aluminum?

OA.

Resistance 0
Resistance (]

Temperature™C —» \ Temperature™C

Resistance I} —»
Resistance [}

Temperature®C

Page 9 of 19

HAnMyrmt BFpp OF aFf /1IOF aTANbIOF ™

Wyt IOMp OF M wT X A mIOF




eSwliall iljloYl jLisl
E m SATT'r'\e Emf}ates%t’a!\da;]dizle& Test

Sample Question: 9
Answer: 32.4

Various elongations are produced when a ane 2 ) e A et ol el alld a5
different objects are attached to a spring. sl o plene 4 il sl
adiae WU do el Jeaa Ashin,
The graph below represents the

relationship between the object mass and 5 sl 3 gl e AESLall sl Sl as N g
the elongation of the spring. s ALY el e

Mass vs. Elongation
aluainy) Jilae a5

-

Mass (kg) 4&sdl

0.8 1.2
Elongation (m) “Uaiuy!

What is the energy stored in the spring 0585 Ladie s 5l b Analsll ABal) ot L
when the elongationis 1.15 m? €1.15 m adluai

Round your answer to the nearest tenth. Bk e e o Y Slilal o

Stored energy (J)= [ ] = (J) &) Akl
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Sample Question:10
Answer: C

If the distance from point A to point B in the B adadill 5 A Adafill (p Adledll cuilS 1)
diagram is 270 cm, What is the wave length of sl Jshll o8 Ld 270 cm g

this wave? foliaf Joull b da pall
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Sample Question:11
Answer: A
A metal bar magnet has a magnetic field in dgmy  abaline Jacddsa 2o g pulaliae

the region around it. The magnetic field ) bl Jiaall 138 35 5 s
is due to - ' T

OA.

‘ the motion of charged particles in COSRE PR JETL -

the metal

an electric current that runs along bl d e o oAl ol
the length of the magnet bl (B g ol Al el A

radio active particles in the metal (el alin o

a hidden voltage source in the . -
metal : e
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Sample Question:12

Answer: C
A ping pong ball undergoing a simple lan 488 S48 a ] A dlgl id
harmonic motion over a hard floor takes 0.15 5 Zhad Al _;..=.J1 e leha ve

to travel from the ground to its Al “Jﬂa Jil e Juisl 0,195 580
highest point. The distance between these

points is 87 cm. 87 cm ¢4y Lo gl aday e

Calculate the frequency of this harmaonic Paml gll 3 Sl as a2 il
motion.

Se ses o B sl o B
Round your answer to the nearst tenth.
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Sample Question:13
Answer: A

When the amplitude of a sound wave is higher . oA o Aa gl Al ol Ladie
the

sound will be louder

sound will be softer

sound waves will befaster

sound waves will slower
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Sample Question: 14
Answer: C

A ray of light shown below is incident upon @ = shede 3dia o Jali 5 gun S latisbial (S| =i g

glass equilateral prism (n=1.5) (n=15) Ak eiuay

Determine the angle of the exiting light & . B Al 8 s
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Sample Question:15
Answer: A

The transition from solid state into a Ose Ao jladl Alladl I Aaliall Allad) e (] galh

gaseous state without passing through o o AL LTl 5,
liquid state is known as P— - ? D3

sublimation

boiling

evaporation

melting
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Sample Question: 16
Answer: C

In a hydrogen atom, the expected color lasil af giall ¢ guaall gl 6opn g paugll s 3 4
emitted due to the transition labeled by @ D sl man gl s JEny| A
arrow D is -7 o o

orange
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Sample Question: 17
Answer: 2.34
A laser pointer produces green light with sl gl pmal § sl Jlea o
a wavelength of 532 nm. 532 nm
lall ¢ guall (g)) U 2al gl o o6 8l 48U L
What is the energy of a single photon in (ev) £
eV produced by the pointer? el e

Round your answer to the nearest ) . ) .
hundregth_ Al s a o gl sl o g

Energy of a single photonineV = [ ] =(e V) sl di ;s gtll 48

Sample Question: 18
Answer: B

Electrons revolve around the nucleus in S e Bl Jea g gSIYY g
orbits that have energy level(s).

38Un il g

O

| finite

O

|_ variable

O
.
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Sample Question: 19
Answer: B

Electrons in an x-ray imaging medical duhll ppatll Silama b oiig pSIY) &
equipment are accelerated from rest BS kY o jloie 2en 3 8 leums i 2l g
through a potential difference of 65 kV. '

? el A g gty e (Ko pudangia L

What is the average speed of each of
these electrons?

151x10%m/s

233x10°m/s

1.07x10%m/s

478%10°m/s
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